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HEBERAFRA: M 2 £ 1 ABHS

HeE B EARHE (Fid) MAEE A & B
&3l SRR (14 BI=f) (mil=f)
858.0000 F9 (FsA) 326.8650 9 (FziA)
A om ~80mET
780.0000 F (Fi1k) 297.1500 M (Fitk)
957.0000 F9 (FiA) 314.4900 F (FzA)
B 81m ~300m E£T
870.0000 M (Fitk) 285.9000 M (Fitk)
1,295.2500 M (FiiA) 303.2150 F (FiiA)
C 301 m ~
1,177.5000 F (Fi1k) 275.6500 M (Fitk)

KIEEMTEMCTRHBHE(BARB)NEFTATVES,
T 2 £ 1 AORBHE : —89.87 M (Fitk)

OHAMENHE
(1] 17RDFERAZ 15 MOFE - #HexkD B #@EH
BindE = HER B OEANE + (CHEAEM)x B REHEHM) GARBNET
= 870+ (150 m x 28590 M)
= 5158 M
HEREF = RlldE x HERE CRRFBUHET)

EEEE]
= 5158 x 10%

= 515 H

AZAHE = RIRHE + HERFHELE ARBIET
= 5158 + 515 [

= 5673 M| — ZiEK%E




